10 \ 9 8 \ 7 6 5 4 3 \ 2 \ 38729

3.8
15 ©
. o
9.53
375 e i
I REF. -50 OPT. SCREW
(WHERE APPLICABLE)
D % é e | O ne o B8 w3
47 62  gg
3.96 / . \ j |
=52 PLCS. \ \ :
9.53
5
375
8.0 [L
.3ZTYP ‘ 3 CRCUIT SHOWN WITH
‘ COVER ROTATED 45°
\ 20.8
‘ 16.8 82
\ N .66
@ \ \\\
27 ) '
f /-7
0.81 1.9
—=TYP 157 v
0327 — 47
062 4:
NOTES:
1. MATERIAL: SEE TABLE
2. FINISHES: SEE TABLE
3. "XX" REFERS TO QUANTITY OF CIRCUITS. =) |QUALITY| GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS © ] THIRD ANGLE
4. ROHS COMPLIANT. S=3| |symBols| (UNLESS SPECIFIED) MM/IN 2:1 INCH PROJECTION
w I==a mm NCH DRAWN BY DATE TITLE ”
5 (XX |SCREWAWASHER, #6-32X.250, PAN, PH/SL (-50 OPT) [STEEL 2N, CLEAR CHROMATE| 0 S S5 | 5| \=0 [4 PLACES|E---  [x---  PHIDALGO  2007/01/30 375" PCB BTS
ﬁ o N 3 PLACES |+ -——- |+.005  |CHECKED BY DATE CLOSED SIDE
4 |xx [SCREW, #6-32%250, BHD, PH/SL (STD) STEEL N, CLEAR CHROMATE LS E /-0 [2PLAGES[z0.5 [+ 0] JENCINAS  2007/01/30 W/HINGED COVER
X <= 2w + Eap— APPROVED BY DATE /N
3 [XX |TERM WIRE WRAP 6C SN-KT BRASS TIN PLATE f§ Sx58 1 PLA[iNGSEAR ECS e 00015 %98x  MOLEX INCORPORATED
2 |1 |COVER, HNGE POLYESTER (PBT) |BLACK ooz WATERAL NO. DOCTRERT NG SEET O,
- =
1|1 |INSULATOR SR, PC, €S, H W/MTG. POLYESTER (PBT) |BLACK ECZXE DRAFT WHERE APPLICABLE| SEE CHART SD-38729-049 1 OF 2
WO me‘UNSE‘MREENMSA“ONNS SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
mEm | oTv. | DESCRIPTION MATERIAL FINISH A g B |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
tb_frame_B_P_ME_T 9 8 7 ‘ 6 5 4 ‘ 3 ‘ 2 ‘ 1
Rev. E 2006/04/15




10 7 6 5 4 3 2 38729
C:\lRoClﬁ!;S DIM. "A" DIM. "B" DIM. "C" DIM. "D" Mﬁ?gs:\g?_LNYo Mﬁ?:S&ELNYO
mm in mm in mm in mm in (STANDARD) (-50 OPT)
02 40.1 1.58 9.53 0375 | 2858 | 1.125 21.1 0.83
03 497 1.96 19.05 | 0750 | 3810 | 1.500 30.7 1.21
04 59.2 2.33 2858 | 1125 | 47.63 | 1.875 40.2 158 387291500
05 68.7 2.71 38.10 | 1500 | 57.15 | 2.250 497 1.96
06 78.2 3.08 4763 | 1875 | 66.68 | 2.625 59.2 233 387291361 387291081
07 87.8 3.46 5715 | 2250 | 76.20 | 3.000 68.8 2.71
08 97.3 3.83 6668 | 2625 | 8573 | 3.375 783 3.08
09 106.8 4.21 7620 | 3.000 | 9525 | 3.750 87.8 3.46
10 116.3 4.58 8573 | 3375 | 10478 | 4.125 973 3.83
11 125.9 4.96 9525 | 3750 | 11430 | 4500 | 106.9 4.21
12 135.4 5.33 104.78 4125 123.83 4.875 116.4 4.58
13 144.9 571 | 11430 | 4500 | 13335 | 5250 | 125.9 4.96
14 154.4 6.08 | 12383 | 4875 | 14288 | 5625 | 1354 5.33
15 164.0 6.46 | 13335 | 5250 | 152.40 | 6.000 | 145.0 5.71
Eal el DIMENSION STYLE SCALE DESIGN UNITS
S| (A eSS SPECRIED) MM/IN 21 | N | © ISR ANGE
W § % § % _— mm INCH DRAWN BY DATE TITLE 375" PCB BTS
%QNNW é v:O 4 PLACES|+-—- +-— AHIDALGO 2007701730 .
% N S PLACES |+ ——= |+.005  |CHECKED BY DATE CLOSED SIDE
hS2 Z5\Wo T PLAESS0TS [ro1 VENCINAS 2007010 W/HINGED COVER
g2 oEof SNCUaRE 7 foeRoss oot f0Sx  MOLEX INCORPORATED
) e MATERIAL NO. DOCUMENT NO. SHEET NO.
hoz=<a DRAFT WHERE APPLICABLE| SEE CHART SD-38729-049 2 OF 2
VLo < MUST REMAIN SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A @ WITHIN' DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
R 25008 G/ 7 \ 6 5 4 \ 3 \ 2 \ 1




10 \ 9 8 \ 7 6 5 4 3 \ 2 \ 38729

3.8
15 ©
_ o
9.53
375" |
! REF. -50 OPT. SCREW
(WHERE APPLICABLE)
D % é e | O ne o B8 3
47 62 58
3.96 / . \ . |
®==52 PLCS. \ | ‘
9.53
-
375
8.0
32" E\ 3 CRCUIT SHOWN WITH
| COVER ROTATED 45°
\ 20.8
‘ 16.8 82
\ N .66
@ \ \\\
27 A A
f 7-7
0.81 11.9
— TYP 1.57 —
032 —= 47
062 4:
NOTES:
1. MATERIAL: SEE TABLE
2. DIMS ARE SHOWN IN MM/INCH,
3, "XX" REFERS TO QUANTITY OF CIRCUITS. = ==| |QUALITY| GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS © ] THIRD ANGLE
4. ROHS COMPLIANT. SSS| |symBols| (UNLESS SPECIFIED) MM/IN 2:1 INCH PROJECTION
% % % % mm ‘N[H DRAWN BY DATE TITLE »
5 XX |SCREWRWASHER, 6-32¢250, PAN, PH/SL (-50 OPT) |STEEL 2N, CLEAR rRomaTE| S S5 F|5(\W=0 [4PLACES[E-—-  [£--- ). ENCINAS  2009/07/10 375" PCB BTS
o £ 3 PLACES[: ——-  |£.005 |CHECKED BY DATE CLOSED SIDE
4 XX | SCREW, #6-32%250, BHD, PHISL (STD) STEEL 2N CLEAR CHROMATE| _ 8 _[EI\E7=0 [2 PLACES[E03 |20 L. YORK 2009707710 W/HINGED COVER
< = Zuw + Eap— APPROVED BY DATE /N
3 |XX |TERM WIRE WRAP 6C BRASS TIN PLATE PEEEI=L 1 PLA[iNGSEAR B TWae. e @9x MOLEX INCORPORATED
2 |1 |COVER, HINGE POLYESTER (PBT){BLACK W = FATERIAL T0: BOCOVENT NG SHEET O,
[y
1|1 |INSULATOR. SR. PC, CS, H W/MTG. POLYESTER IPBT)|BLACK O ==% DRAFT WHERE APPLICABLE| SEE CHART SD-38729-053 1 OF 2
roco< W‘Tm‘UNSE‘MREENMSA“ONNS SIZE [ THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
mev |aTv. | DESCRIPTION MATERIAL FINISH A g B |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
tb_frame_B_P_ME_T
Rev. E 2006/04/15 9 8 7 ‘ 6 5 4 ‘ 3 ‘ 2 ‘ 1




10 9 8 7 6 5 4 3 2 38729
NO. OF DIM. "A" DIM. "B" DIM. "C" DIM. "D" Mﬁ?:s?&ELNYO Mﬁ?’:sm?_LNYO INSULATOR COVER
CIRCUITS MATERIAL NO. [ MATERIAL NO.
mm in mm in mm in mm in (STANDARD) (-50 OPT)
02 40.1 158 | 953 | 0375 | 2858 | 1125 | 21.1 0.83 397280102 397282135
03 497 196 | 1005 | 0750 | 3810 | 1500 | 307 | 121 397280103 397282136
04 502 | 233 | 2858 | 1125 | 4763 | 1875 | 402 | 158 387291500 397280104 397282137
05 687 | 271 | 3810 | 1500 | 57.15 | 2250 | 497 | 1.96 397280105 397282138
06 782 | 308 | 4763 | 1875 | 6668 | 2625 | 502 | 233 | 387291361 387291081 397280106 397282139
07 878 | 346 | 5715 | 2250 | 7620 | 3000 | 688 | 271 | 387201648 397280107 397282140
08 973 | 383 | 6668 | 2625 | 8573 | 3375 | 783 | 3.08 397280108 397282141
09 1068 | 421 | 7620 | 3.000 | 9525 | 3750 | 878 | 3.46 397280109 397282142
10 1163 | 458 | 8573 | 3375 | 10478 | 4125 | 973 | 383 397280110 397282143
11 125.9 4.96 95.25 3.750 114.30 4.500 106.9 4.21 397280111 397282144
12 1354 5.33 104.78 4.125 123.83 4.875 116.4 4.58 397280112 397282145
13 1449 | 571 | 11430 | 4500 | 13335 | 5250 | 12509 | 4.96 397280113 397282146
14 1544 | 608 | 12383 | 4875 | 14288 | 5625 | 1354 | 533 397280114 397282147
15 1640 | 646 | 13335 | 5250 | 15240 | 6.000 | 1450 | 5.71 397280115 397282148
D= = DIMENSION STYLE SCALE DESIGN UNITS
Soo| A eSS SPECRIED) MM/IN 21 | N | © ISR ANGE
ne28| |/ mm INCH | DRAWN BY DATE TITLE )
VESSS5|W-0 [ZPLACES|E-—- [2-— ). ENCINAS  2009/07/10 375" PCB BTS
o g N 3 PLACES |+ -—-- |*.005  |CHECKED BY DATE CLOSED SIDE
hS2 2 \&/=0 ZPLAESIEOTS [0 (. YORK 2008707110 W/HINGED COVER
= d —
$=z588" SMCUaRE 7ol MO a7 oS MOLEX INCORPORATED
S ; E ; MATERIAL NO. DOCUMENT NO. SHEET NO.
hoz=<a DRAFT WHERE APPLICABLE| SEE CHART SD-38729-053 2 OF 2
Nwoo = W\Tm\UNSE\MREENMSA\g‘NS SIZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. € 3008/04/5 9 8 7 | 6 5 4 | 3 | 2 | 1




